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TNV/src/05 client/02 conn.cpp

/] FT %R
bool conn c::open(void) {
if (m conn)
return true;

/] BIEESS R

m conn = new acl::socket stream;

/] ERH B ENL
if (!m conn—>open(m destaddr, m ctimeout, m rtimeout)) {
logger error (“open %s fail: %s”,
m destaddr, acl last serror());
delete m conn;
m conn = NULL;

m errnumb = —1;
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m_errdesc. format (“open %s fail: %s”,
m destaddr, acl last serror());
return false;

}

return true;
}
/] RVESE

void conn c::close(void) {
if (m conn) {
delete m conn;
m conn = NULL;
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/] 1ai& i =k

int conn_c::makerequ(char command, char const* appid,
char const* userid, char const¥ fileid, char* requ) {
/1 VEARAEE [dr2 PR | ID| 71D SCAHID |
// 8 1] 1] 16 | 256 | 128 |
requ[BODYLEN SI1ZE] = command; // 7%
requ[BODYLEN STZE+COMMAND STZE] = 0; // IR

// N.FHID
if (strlen(appid) >= APPID SIZE) {
logger error (“appid too big, %lu >= %d”,
strlen(appid), APPID SIZE) ;
m errnumb = —1;
m_errdesc. format (“appid too big, %lu >= %d”,
strlen(appid), APPID SIZE) ;
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return ERROR;
}

strepy (requ + HEADLEN, appid) ;

// FH 1D
if (strlen(userid) >= USERID SIZE) {
logger error (“userid too big, %lu >= %d”,
strlen(userid), USERID SIZE);
m errnumb = —1;
m_errdesc. format (“userid too big, %lu >= %d”,
strlen(userid), USERID SIZE);
return ERROR;

}
strepy (requ + HEADLEN + APPID SIZE, userid);
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/] LD
if (strlen(fileid) >= FILEID SIZE) {
logger error(“fileid too big, %lu >= %d”,
strlen(fileid), FILEID SIZE);
m errnumb = —1;
m errdesc. format ("fileid too big, %lu >= %d”,
strlen(fileid), FILEID SIZE);
return ERROR;

}
strcpy (requ + HEADLEN + APPID SIZE + USERID SIZE, fileid);
return OK;

}

/] B AR
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int conn_c::recvbody(char®* body, long long#% bodylen) {

/1 Bk

int result = recvhead(bodylen);

/] BEAEA A R IR SR B Bl AE Ak H AR IR
if (result != ERROR && result != SOCKET ERROR && *bodylen) {
// 53 e Bl AR
if (! (%body = (char*)malloc (*bodylen))) {
logger error(“call malloc fail: %s, bodylen: %11d”,
strerror (errno), %*bodylen) ;
m errnumb = -1;
m errdesc. format (“call malloc fail: %s, bodylen: %I1d”,
strerror (errno), %*bodylen) ;

return ERROR;
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/] B
if (m conn—>read (*¥body, *bodylen) < 0) {
logger error (“read fail: %s, from: %s”,
acl::last serror(), m conn—>get peer());
m errnumb = -1;
m errdesc. format ("read fail: %s, from: %s”,
acl::last serror(), m conn—>get peer())
free (*body) ;
*body = NULL;
close();
return SOCKET ERROR;

}

return result;
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/1 Bk

int conn _c::recvhead(long long* bodylen) {

if (lopen())

return SOCKET ERROR;

char head[HEADLEN]; // £k %% [X

/1 Bk

if (m conn—>read(head, HEADLEN) < 0) {
logger error (“read fail: %s, from: %s”,

acl::last serror(), m conn—>get peer());

m errnumb = —1;
m errdesc. format ("read fail: %s, from: %s”,

close();

acl::last serror(), m conn—>get peer());
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return SOCKET ERROR;
}

/] AR | a2 IR |
// | 8 | 1] 1]
// fEpT AL Sk
if ((¥bodylen = ntoll(head)) < 0) { // QLK
logger error(“invalid body length: %11d < 0, from: %s”,
*bodylen, m conn—>get peer());
m errnumb = —1;
m_errdesc. format (“invalid body length: %I1d < 0, from: %s”
*bodylen, m conn—>get peer());
return ERROR;

’
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}
int command = head[BODYLEN SI1ZE]: // 5%
int status = head[BODYLEN SIZE+COMMAND STIZE]: //IRZS
if (status) {
logger error (“response status %d != 0, from: %s”,

status, m conn—>get peer());
return STATUS ERROR;

}
logger ("bodylen: %11d, command: %d, status: %d”,
*bodylen, command, status);

return OK;
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